21/04/2021 5H CSEC Revision

(a) Using a calculator, or otherwise, calculate the EXACT value of

jB = ok
5 DL AR (2 marks)
> -
=y
(i) 15625 +(032% — (2 marks)

(b) Given that f{x) = —h; L and g(x) = 4x + 5, determine the values of’
(1) fz(2) (3 marks)
(iy £'13 (3 marks)

(a) The incomplete table below shows one pair of values for 4 and ® where A is directly
proportional to the square of K.

A 36 196 —‘

R |

Complete the table above.
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{a)

The diagram below, not drawn to seale. shows a circle with centre . E8C is a tangent

to the circle. <QBA = 40° and =0QBF = 35",

Calculate, giving reasons for your answer, the measure of

()
(ii)
(iii)

{iv)

<EBF

<BCiA

<AFH

<OAF

{1 mark)
{2marks)
(2 marks)

(2 marks)
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